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Chapter 5 HKAS 36 Impairment of Assets – Answers
Answer 1

(a)

Impairment loss (CGU)

= $510,000 (carrying amount) – $460,000 (recoverable amount)

= $50,000

· The $50,000 impairment loss for the CGU allocated to its assets in the following order:

1. Reduce $10,000 goodwill

2. Remaining impairment loss of $40,000 allocated as follows:

	
	
	proportion
	Impairment loss

	Building
	300,000
	60%
	24,000

	Equipment
	 200,000
	40%
	 16,000

	
	$500,000
	
	$40,000


	
	(BEFORE)

Carrying amount ($)
	Impairment Loss ($)
	(AFTER)

Revised Carrying amount ($)

	Goodwill
	10,000
	(10,000)
	0

	Buildings (*)
	300,000
	(24,000)
	276,000

	Equipment

	  200,000
	 (16,000)
	 184,000

	Total
	$510,000
	($50,000)
	$460,000


* Building – revised carrying amount should be the higher of $276,000 (VIU) and $270,000 (FVLCS).
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Impairment loss


Dr.
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50,000



Cr.
Goodwill









10,000



Cr.
Accumulated impairment loss – Building


24,000



Cr.
Accumulated impairment loss – Equipment


16,000

(b)
· Determine reversal of impairment loss at 31 Dec. 2016
Building:
	
	(BEFORE reversal of impairment)
	(assuming NO impairment)

	Cost
	$500,000
	$500,000

	Acc. Depreciation 
	(200,000+30,000) = (230,000) 
	200,000+35,000 = (235,000) 

	Acc. Impairment
	(24,000)
	-

	Carrying amount
	$246,000
	$265,000


Equipment:
	
	(BEFORE reversal of impairment)
	(assuming NO impairment)

	Cost
	$300,000
	$300,000

	Acc. Depreciation 
	(100,000+22,000) = (122,000) 
	100,000+28,000 = (128,000) 

	Acc. Impairment
	(16,000)
	-

	Carrying amount
	$162,000
	$172,000


	
	(BEFORE reversal)

Carrying amount 
	Reversal of impairment  
	(AFTER reversal)

Revised Carrying amount 

	Building 
	$246,000
	15,074
	$261,074

	Equipment
	  162,000
	 9,926
	 171,926

	Total
	$408,000
	$25,000
	$433,000


31 Dec. 2016
Reversal of Impairment loss

	Dr
	Acc. Impairment Loss – Building
	15,074
	

	Dr
	Acc. Impairment Loss – Equipment
	9,926
	

	
	Cr
	Gain – Reversal of Impairment Loss
	25,000


(c)

After reversal, the carrying amount of equipment shall be lower of $168,000 (recoverable amount) and $172,000 (carrying amount assuming no impairment in prior periods).

	
	(BEFORE reversal)

Carrying amount 
	Reversal of impairment  
	(AFTER reversal)

Revised Carrying amount 

	Building* 
	$246,000
	19,000
	$265,000

	Equipment
	  162,000
	6,000
	 168,000

	Total
	$408,000
	$25,000
	$433,000


* Building still does not exceed the carrying amount if it had never been impaired as shown in answer (a).    
31 Dec. 2016
Reversal of Impairment loss

	Dr
	Acc. Impairment Loss – Building
	19,000
	

	Dr
	Acc. Impairment Loss – Equipment
	6,000
	

	
	Cr
	Gain – Reversal of Impairment Loss
	25,000


Answer 2
(a)

[image: image1.emf]
On 1st October 20X8 the land and buildings were valued by XYZ, Chartered Surveyors, on an open market existing use basis.
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The closing carrying value must not exceed the impaired value of $100m; therefore the accumulated depreciation must be fixed at $200m. This in turn gives the impairment charge as a balancing figure of $140m.
The new carrying value of $100m will be depreciated over the remaining 8 year life of the license.
(b)
Usefulness of the disclosures
The disclosures give the reader more information about the nature and value of the non-current assets.
Firstly, there is the split between tangible assets (property, plant and equipment) and intangible assets. Lenders are less willing to use intangibles as security for loans than tangibles, and in the event of a winding up intangibles are often worthless without the business to support them.
Within property, plant and equipment there is the split between land and buildings and the rest. Land and buildings are often seen as the best source of security by lenders.
Land and buildings can go up in value as well as down, and so the note indicates the effect of revaluations during the year. The revaluation reserve note elsewhere in the financial statements will show the total revaluation compared with original cost. Because valuations are subjective the identity and qualifications of the valuer are disclosed.
The rates of depreciation indicate how prudent (or otherwise) the depreciation policies are, and whether the reported profits are fairly stated. The ratio between carrying value and cost gives a rough idea of the age of the assets, and of how soon they will need replacing.
The disclosure of the impairment loss flags a bad investment; the shareholders will want more information about this at their annual general meeting.
Answer 3
YM shall assess at each reporting date whether there is any indication that an asset may be impaired. If any such indication exists, SM shall estimate the recoverable amount of the asset.
The closure of the production plant and return of the leasehold land to the government is considered as an indicator of possible impairment of assets for YM, i.e. a significant change with an adverse effect on the entity has taken place in the period or is expected to in the near future with the result that the asset’s expected use or useful life will change.
An impairment test of asset, other than inventories in this case, involves comparing the carrying amount of the asset with its recoverable amount.
HKAS 36.2a specified that impairment test of an asset shall not be applied to inventories.
HKAS 2 requires inventories to be measured at the lower of cost and net realisable value. And net realisable value is the estimated selling price of an item of inventory less estimated costs to complete and sell it.
Building and Infrastructure:

Presented as property, plant and equipment as it is to be abandoned, instead of for sale.

Recoverable amount at 31 May 2011 –

Fair value less costs to sell = nil or negative; and

Value in use = the present value of the future cash flows expected to be derived from the operation from June to end of August 2011.
Impairment loss recognised – excess of $23.8 million over the estimated value in use.
Provision for dismantling – to adjust so that the balance will be accreted to $3 million by September 2011 (assuming time value of money for the four months from June to September 2011 is ignored, an additional $1.5 million is recognised).
Production equipment:

Presented as property, plant and equipment as it is not to be disposed by YM

Recoverable amount at 31 May 2011 - $48 million.
No impairment is recognised as YM can continue to use them in another manufacturing plant.
No provision for relocation and installation cost is recognised as there was not a present obligation at 31 May 2011.
Electricity generator:

Presented as a property, plant and equipment, as YM would continue manufacturing until the end of August 2011 and it is expected that the electricity generator would not be available for immediate sale as at 31 May 2011, and measured at the lower of carrying amount and recoverable amount.
Fair value less costs to sell = $4 million; and

Value in use = the present value of the future cash flows expected to be derived from the operation from June to end of August 2011.

Assuming the value in use is less than the fair value less costs to sell of $4 million, the Impairment loss recognised - $1.2 million ($5.2 million - $4 million).
Land under operating lease:

Presented as prepaid lease payment as YM would continue manufacturing and use the land until the end of August 2011 and it is expected that the land would not be available for immediate sale as at 31 May 2011 and measured at the lower of carrying amount and recoverable amount.
Fair value less costs to sell = not less than $35 million (assuming the costs to sell is minimal ; and

Value in use = the present value of the future cash flows expected to be derived from the operation from June to end of August 2011.
No impairment is recognised as the recoverable amount is expected to be greater than the carrying amount of $13 million.
Inventories – raw material:

Measure at $8.4 million at 31 May 2011.
As it is expected that all the raw materials will be consumed for the production of tiles and sales at a profit, i.e. the net realisable value is higher than the cost.

Inventories – Finished products:

Measured at $4.48 million ($3.2 million + $1.28 million) at 31 May 2011.
Net realizable value write down - $1.92 million [$6.4 million × 50% × 60%].
Answer 4
(a)

Based on the information provided in the question, the significant deterioration of Run Pro’s sales performance is an impairment indicator. When such an indication exists, the entity shall estimate the recoverable amount of the asset of Run Pro.
The brand, being an intangible asset with indefinite useful life, and therefore no amortisation is recognised, is required to be tested for impairment at least annually, irrespective of whether there is any indication of impairment.
Accordingly, WSL is required to perform an asset impairment review in both Run Pro and Jog Pro at 30 June 2012.
(b)

An asset or cash generating unit (CGU) is considered to be impaired when its recoverable amount declines below its carrying amount.
The recoverable amount of an asset or a CGU is the higher of its fair value less costs to sell and its value in use.
The recoverable amount is determined for an individual asset, unless the asset does not generate cash inflows that are largely independent of those from other assets or groups of assets.
If that is the case, the recoverable amount is determined for the CGU to which the asset belongs, unless either:

· The asset’s fair value less costs to sell is higher than its carrying amount; or

· The asset’s value in use can be estimated to be close to its fair value less costs to sell and fair value less costs to sell can be determined.

A CGU is the smallest group of assets that generates largely independent cash inflows. This may be a single asset or group of assets.
Based on the information provided, each brand is considered as a cash generating unit.

The value in use of the group of assets (i.e. the intangible asset, plant and equipment, developed cost capitalised and inventories) under individual brands and fair value less costs to sell of each of the two brands and individual categories of assets are determinable.

HKAS 36 has a bottom-up approach to impairment testing.
It is incorrect to compare the aggregate value in use with the total net assets of both brands to determine whether an individual brand or other asset is impaired.
(c)

	
	Run Pro
	Jog Pro

	
	$’000
	$’000

	Net assets of the CGU, other than inventories (a)
	71,000
	33,000

	Value in use of the CGU (b)
	64,000
	60,000

	Fair value less cost to sell of the CGU (c)
	60,000
	58,000

	The recoverable amount (d) (The higher of (b) and (c))
	64,000
	60,000

	
	
	

	Recoverable amount > Carrying amount of assets under the CGU
	NO
	YES

	Impairment issue
	YES
	NO

	Excess of net assets over the recoverable amount (d) – (a) = (e)
	(7,000)
	


According to the result above, the brand "Run Pro" is considered impaired and the impairment loss, HK$7 million, should be first allocated pro-rata on the basis of the carrying amount of each individual assets.
Allocation of impairment loss on pro-rata basis:
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When allocating an impairment loss to individual assets within a CGU, the carrying amount of an individual asset should not be reduced below the highest of (i) its fair value less costs to sell (if determinable); (ii) its value in use (if determinable); and (iii) zero.
If this results in an amount being allocated to an asset which is less than its pro rata share of the impairment loss, the excess is allocated to the remaining assets within the CGU on a pro rated basis.
Note 1: Plant and equipment

	
	$’000

	Fair value less cost to sell (f)
	36,000

	Carrying amount (g)
	40,000

	(f) – (g) = (h)
	(4,000)


Note 2: Development cost

	
	$’000

	Capitalized without determinable fair value less costs to sell nor value in use (i)
	6,000


Both development cost and plant & equipment fulfilled the requirement above and no excess impairment loss should reallocate to other assets.
Answer 5
(a)

Net realisable value of inventories is the estimated selling price in the ordinary course of business less the estimated costs of completion and the estimated costs necessary to make the sale.
Assessment of impairment of property, plant and equipment involves comparing the carrying amount of the asset with its recoverable amount, which is the higher of its fair value less costs of disposal and its value in use.
Fair value less costs of disposal is the amount obtainable from the sale of an asset or cash generating unit in an arm’s length transaction between knowledgeable, willing parties, less the costs of disposal.
Value in use is the present value of the future cash flows expected to be derived from an asset or cash-generating unit.
(b)

The Final Order provides indicator that only 500,000 units would be sold at a price above the unit cost.
If there is no possible way to sell them to other customers, the net realisable value of the remaining 300,000 units will be nil, a write down of inventories up to $3,600,000 (300,000 x $12) would be recognised.
And the inventories of the finished goods, after write down the inventories, will be carried at $6,000,000 as at 31 October 2013.
For raw material purchased for the production of this model and work in progress under production, net realisable value is assessed with consideration of alternative use and their estimated selling price.
For the moulds used to produce the item concerned, a total of 10 months depreciation of $250,000 has been recognised and the carrying amount as at 31 October 2013 is $200,000.
The Final Order provides indicators that there would be no more new sales of the items and therefore the mould should be subject to impairment testing.
Value in use is considered nil and the recoverable amount should be determined based on fair value less costs to sell. Given the estimated selling price of scrap metal is $10,000, an impairment of $190,000 will be recognised.
Answer 6
(a)

HKAS 38 distinguishes between two phases in the generation of an intangible asset internally – the research phase and the development phase. Costs incurred during the research phase are required to be expensed in accordance with HKAS 38.54.
Pursuant to HKAS 38.57, specifically, an intangible asset arising from development (or from the development phase of an internal project) should be recognised if, and only if, an entity can demonstrate all of the following:
· the technical feasibility of completing the intangible asset so that it will be available for use or sale;

· its intention to complete the intangible asset and use or sell it;

· its ability to use or sell the intangible asset;

· how the intangible asset will generate probable future economic benefits. Among other things, the entity can demonstrate the existence of a market for the output of the intangible asset or the intangible asset itself or, if it is to be used internally, the usefulness of the intangible asset;

· the availability of adequate technical, financial and other resources to complete the development and to use or sell the intangible asset; and

· its ability to measure the expenditure attributable to the intangible asset during the development phase.

The cost to carry out a search for the evaluation of the alternatives of the system is a research cost and incurred with the intent of gaining new knowledge rather than creating a practical application from which future economic benefits will flow. Therefore, research costs do not meet the criteria for recognition of an internally generated asset. This cost should be expensed in profit or loss.
The technicians' salaries to build up the system can be capitalised as a development cost given that the salaries are directly incurred for the application of the research findings to build up the innovative system and PCL has demonstrated all the above criteria are fulfilled.
(b)

The commencement of the amortisation period should be from the date the system is available for use. i.e. by the end of 2015.
The intangible assets shall be amortised over its useful life. The estimated useful life of the intangible assets is the shorter of the period of the legal rights and the period over which economic benefits are expected to be generated.
For the legal rights of the patent, HKAS 38.94 stated that the useful life of an intangible asset should include the renewal period only if there is evidence to support renewal by the entity without significant cost.
Existence of some factors to support renewal without significant cost include:
· evidence that possibly based on experience the contractual or other legal rights will be renewed;

· evidence that any conditions necessary to obtain renewal will be satisfied; and

· evidence that the cost of renewal is not significant when compared with the future economic benefits arising from the renewal.
So the useful life as determined by the legal rights is 10 years.
However, the new system can generate economic benefits for 8 years only for the period it is not obsolete. The amortisation period is the shorter of these two, i.e. 8 years.
(c)

Yes, PCL is required to conduct an impairment assessment of the innovative system.
As the costs incurred for building up the innovative system are intangible assets not yet available for use, even if there is no indicator of impairment, impairment should be tested annually in accordance with HKAS 36.10(a).
This impairment test may be performed at any time during an annual period, provided it is performed at the same time every year. However, since such intangible assets were initially recognised by PCL during the year ended 31 December 2014, they shall be tested for impairment on or before 31 December 2014.
The recoverable amount is defined as the higher of an asset’s or cash-generating unit’s fair value less the costs of disposal and its value in use in accordance with HKAS 36.6.
In determining the cash flows projection, PCL should consider the following in relation to the cash flows derived from the intangible assets:

· the future income stream from sales of the product generated from the innovative system;

· the expenditures in constructing the production facilities;

· discount rate;

· growth rate of the industry; or

The cash flows projection should be limited to the useful life of the system, i.e. 8 years.
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